EE1787X77)L ik
33l

&1, 000~3, 0004 5Ki&/H - CBR=8)

wWOE ¥ X

18 S 1]
AR 300
r;;;;;ﬁﬁ@i
|
:;E E . N
a: 28
g RH 1 gE::
o T 208
: Sg ! S5
< | (]
7 T
i
I
EERET (@R FEAs (20) t= Sem EEL (B)7)% 411 £ As (320FH t=_ Sem
LEBBET KR E ¢ 40mm t= 30cm BET @K FEAs (20) t= Sem
TEHRSBT RC-40 t= 20cm W FEERAE T BEERENIE (25 t=_ 5om
LR T i S FE A ¢ 40mm t= 20cm
[FESHET RC-40 t= 20cm
. §+
BE7R T 7L M B)
(FHEER250~625% K%6/H - CBR=8) R5N5
i3 1z E3 1|
AR 300
215
|
N N
o |78 |
2 [ :
< + e
s
|
BEERET @B EAs (20) t=_Sem ‘BT ©@FHFEAs (H20FH)  t= Sem
LE®mET #1508 B ¢ 40m t= 17cm BT Q% EAs (20) t= Sem
TEBRBT ARC-40 t= 20cm LE 2T i S FE R ¢ 40mm t= 12cm
T ARC-40 t= 20cm
. 4+
RE7RI7 7L MR A1)
(RtEIZEER100~2504 K%/ - CBR=8) X4N4
i3 1z E3 1|
HRHIE 300
215
|
oA N
N
4 HR | HH
5 i
B ‘ g
o
i
|
RERET QR H FEAs 20) t= Sem I ODEHIEAs F20FH)  t= Sem
i T 40mm t= 12cm lEEEaseT HFRE ¢ 40m t= 12cm
TEBHBET ARC-40 t= 20cm [FEmHET ARC-40 t= 20cm

KB/ TREBRRRUMHAE 6 U LEDTR T 7L b
HMEBRRIOVTE, OREI1REERAT D

BE7RAT7ILLEHEWN

TEISEE 240~ 1006 K%/ B - CBR=8)  EHN3

&8 AEB
RAIE 300
121
|
N
‘ S|
g
b . .
%
i
|
BRET @i FE As (20 t=_ 5cm BEL ©@)% Hi EAs (3 20FH t= Scm
LERET HEFAFE ¢ 40mn t= 12cm LT HEFAFE ¢ 40mm t= 12cm
T ARC-40 t= 12cm T ARC-40 t= 12cm

TET7A77IL MEE (1,280

(BB EE40~ 1008 K E/ B - CBR=3)

B &8
B HI0E 300
WEE
b4 5 =
a5t | 252
8 aue; T S
S 233 ! Sese
:IE.:. % -'-E:IE
BREL QAR HIFE As (20) t= 3em EET GO A (§T20FH)  t= 5cm
LERET HBHE ¢ 40m t= 17cm | BT t= 15cm
TEBET ARC-40 t= 20cm [FERET t= 20cm
. e
TET7 AT 7L MEE
(FtE X EB40~ 1004 K %/8 - CBR=4)
k&8 A#EB
I 300
F 4"‘@%
N
J B | 585
S [ sess
ss ! oss.
- { +
FEET @4 EAs (20) t= 3em RET GDEHEAs ($20FH)  t= 5cm
LEBET MR ¢40m _ t= 14on 19 F1 5 HERE ¢ 40m t= 12em
I ARC-40 t= 20cm I ARC-40 t= 20cm

mEaIVY Y — R

mEL avy ) — bk (18-8-40-B) t=_10cm
EMI ARC-40 t= 15cm
s ;
BET7TARAI7IL L%
R#&8 A#EIR
BB E3
S W%W
=4 |
FEEBT @$AHEAs (20) t=_3cm mEL @ HiEEAs (13F) t= 4dem
AT ARC-40 t= 13cm [pEde T ARC-40 t= 12cm
HEIU ) — MK
A#EIR
HEHIE 2108
EFI a2y ) — b (18-8-40-B) t= 10cm
B T ARC-40 t=_15cm
I !
ES 4]
HEHIIE
g o )
BT V59T e—35 ¢25m t=_10cm

NHTKE - BEREQNHTKE
v OBKERERET & IR
R % 5 @
a B # % R £ Q@ . a
] L & =

1:20 (A1) T =

'R 1:40 (A3) & 5
E3 13 " =
& & =
E3
& & &gj

m A B ™




